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78  Consider the following statements. Sardar Vallabhbhai Patel 
 1. Had been a Congress Leader 
 2. First Home Minister of independent India 
 3. Was a member the committee of the Constituent Assembly on Fundamental Rights 
 Select the correct answer using the codes below. 
 A. 1 and 2 only B. 2 and 3 only C. 1 and 3 only D. 1, 2 and 3 
79  The Parliament cannot amend those provisions which form the ‘basic structure’ of the Constitution. 

Which of these features have been mentioned in the constitution as a part of its ‘basic structure’? 
 1. Federalism 2. Secularism 3. Judicial Review 4. Liberty 
 Select the correct answer using the codes below. 
 A. 1 and 2 only B. 1, 3 and 4 only C. 2 and 4 only D. None of the above 
80  The Indian Ocean is important for which of the following reasons? 
 1. Various rare earth elements could be found in the Indian Ocean. 
 2. It provides important sea lines of communication between East and West Asia. 
 3. Nearly 40% of the world’s offshore oil production takes place in the Indian Ocean basin. 
 Select the correct answer using the codes below. 
 A. 2 only B. 1 and 2 only C. 1, 2 and 3 D. 1 and 3 only 
81  With reference to India-Japan relationship, consider the following statements. 
 1.  India and Japan enjoy a “Major Strategic Partnership” relationship status. 
 2.  The India-Japan Comprehensive Economic Partnership Agreement (CEPA) covers not only trade in 

goods but also Services and Movement of Natural Persons. 
 3.  A ‘Japan-India Make in India Special Finance Facility’ has been established by both countries. 
 Select the correct answer using the codes below. 
 A. 2 and 3 only B. 1 and 2 only C. 1 and 3 only D. 1, 2 and 3 
82  Temperature in cities is much higher than that of villages due to 
 1. Lower forest coverage in cities as compared to villages 
 2. Concrete and asphalt structure in cities capture and release heat 
 3. Vehicular emissions in cities release Greenhouse gases that trap heat 
 4. Cities are more densely populated as compared to villages 
 Select the correct answer using the codes below. 
 A. 3 and 4 only B. 1, 2 and 3 only C. 2 and 4 only D. 1, 2, 3 and 4 
83  The capacity of air to hold water vapour increases as 
 1. Air gets warmer 2. Air expands in volume for the same weight 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
84  How is the seniority of judges in the Supreme Court, conventionally, decided? 
 A. Based on date of induction in the Supreme Court B. Based on age 
 C. Based on length of career span D. Based on professional qualifications 
85  Which of the following forest types covers the largest area in India? 
 A. Tropical Moist Deciduous Forest B. Tropical Evergreen Forests 
 C. Littoral and Swamp Forest D. Sub-Tropical Broad Leaved Hill Forest 
86  Jupiter, Saturn and Uranus have rings around them. These rings consist of 
 A. Satellites of these planets only B. Icy dust, large rocks and moons of the planets 
 C. Comets and asteroids only D. Magnetospheric flux of the planet 
87  Weathering of rocks and deposits helps in the 
 1. Enrichment and concentrations of ores 2. Formation of soil 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
88  Long-term economic growth can be achieved by 
 A. Neglecting capital goods and focussing fully on consumption goods 
 B. Neglecting consumer goods and focussing fully on consumption goods 
 C. Maintaining a judicious balance between capital goods and consumption goods 
 D. Any of the above 
89  Consider the following statements about Aranyakas. 
 1.  They are the concluding portions of the several Brahmanas. 
 2.  They mainly deal with sacrificial techniques and karma kandas. 
 3.  These were works to be read in the villages, as opposed to ‘Brahmanas’ text which must be read in the 

forests. 
 4.  There is no Aranyaka which belongs to the Atharvaveda. 
 Select the correct answer using the codes below. 
 A. 1 and 4 only B. 1 and 2 only C. 3 only D. 1, 3 and 4 only 


